
The matrix A is given as: 
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1) Calculate  A  

 

 

 

2) Calculate algebraic cofactors: 

 

11A  

 

12A  

 

13A  

 

21A  
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3) Decompose this determinant in rows and columns: 

 

 (row 1)  131312121111 AaAaAaA  

 

 

 

(row 2)  232322222121 AaAaAaA  

 

 

(row 3)  333332323131 AaAaAaA  

 



(column 1)  313121211111 AaAaAaA  

 

 

 

(column 2)  323222221212 AaAaAaA  

 

 

 

(column 3)  333323231313 AaAaAaA  

 

 

 

4) The inverse matrix is 

 

 

= 

 

 

 

5) Matrices A and B are given. Find:  1) BA ; 2) TBA 32  ;   
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